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� ������ �
��
� ���
��� ��������� �	
��	� ����� ��  

��� ������	�
� �
   

 � (   ������ ��(WRC-95) 117 � �� ��
��� ��������� �	
��
� ���
��� ������) �����1995 ( �
!" ����
�
���� #���� $�� ��������� �	
��	�  ��%&��� �
�� ��� '�
���� ��
��)*�� +#
,- (� �- ��.�
��� �.������ ���/�

(MSS) ��������� ��
��� ���/� ����!.� 0
!��� �- GHz 15,65-15,451  

2(   0
!��� ��GHz 15,7-15,4 ��������� ��
��� ���/ $.� �3�� ����!.� '"��� ��� ���� 4
�� $.� S4.10 �� 
10�!�� ������� 56���  

7 (   ������� ��WRC-95 ��.�
��� ���
8�� ���/�� $�� 9
��3�� �
,� (FSS) 0
!��� �- GHz 15,65-15,45 �
��� 
���%&� �� �-� ��: �
;�<�� �����
� =�����>� $�� *�(non-GSO) ���/�� �- MSS*�� ?
��	� �- +1#
,-  

� (   �
�� �
�.!�� ���� ��%&�)*��+#
,- (� ��.�
��� ��@�Anon-GSO ���/�� �- MSS �%B �- $-���C� �� 2�� 
10
!���  

B (   ��������� ��
��� ���/ �- �
!���� �� �	
��D� ���!.���� ��: 9
/��� 2��� �� �;�� E����1E����.�   

� (  �� �����D� ��� ��������� ��
��� ���/ �- �
!�� E&<� �����!.� $.� F�C� �� �� �� =����� !����e.i.r.p. 
G.��� dBW 42 ���� ��&� E/����� �� 2������ � E����.non-GSO 1� �������� ������.� �.�
" ������ ?%B $���E�" ��  �
!"

��������� �	
��	�)  '"��� �@��S5.511C������� 56��� �� (1  

3 (   H� ����!.� ��������� ��
��� �
!�� �� �	
��D� 0���� ���� �
!���� ��6
,I �-19
�.�� ����J� 	 ��%&��� �.��  

K (   ��,�>� �
!���� �� �	
��D� �� �- ��%&��� �.��=�<����� �;�� *�>� 5!� $.�  9��
, 9
/��� 2��� ��
 ��������� ��
��� �
!�������!.�1  

!(   ��������� ��
��� ���/ ��
��� ��.�
��� ���
8�� ���/�� $.� �,L�C- ������ *�� ������!.� '"�.� 9
��! �S5.511C 
1������� 56��� ��  

M(   �
!����� 9��� �������� �
!���� ���- �������� �������� ��
��� ���/  �����������!.� 0
!��� �%B E����� 
19
���� �I8;� =����  

N(   ���� �
!�� ����������� $.�=�6
!   5��� 	 
O�� 0
!��� �- F��
GHz 16,45-15,45 '"�.� 9
��! �S5.511B �� 
1������� 56���  

                                                 
*    ��� ������	 
�� 
���� �� ������ ���	���	 ���� 8�����	��	 ������� . 
**   ���	���	 ���� �����4 ��� �����	��	 ������� 2001 �	�!�	 ��"#$ %�!&' ������	 
�� (� ��)��� ����*� ITU-R 44 (RA-2000). 
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E (   ��������� ��
��� �
!��� ��.�&<���� ������� P6
�/�� ������!.� �-���� 
; �-�����-1  

 '(  1�"�� =���� ���� ��%&��� �
��� ��.�&<���� ������� P6
�/�� ��  

 �(   M���,�� �� ��H,� ��,�>� �
!���� ��� ���.!��� E�I��� 0������ �
-
�� ������ 06��!  �- ��%&��� �.��
 ��������� ��
��� �
!�������!.� ��������� ��
��� �
!�� ��
��� ����!.�1  

4(  ���� ���" �
����
��� E6
��.� ��Q�C; �� 0��   

�����  

1  ���� �� ���/�� ��%&� �
�� MSS $.� 0
!��� GHz 15,63-15,43)  �@�
��� �@��1(1  

2  3�
��� 	� 
O�� ������ �	
��D� =����
� e.i.r.p. ��
�I�� (Eeff)  =��
��� ��������� ��
��� �
!�� ������!.� 

� �.�:  

1.2 �> �����
� ��@ =��
�� ���6
!�� !��B� ���� ��%&��� �
��
O"
!� *�� 0�I� MHz 3:  

9040

4034

3432

3214

148

80

for

for

for

for

for

for

dBW

dBW

dBW

dBW

dBW

dBW

)40(2.030

30

)32(948

48

)8(833.053

53

≤ϕ≤
<ϕ≤
<ϕ≤
<ϕ≤
<ϕ≤
<ϕ≤
















−ϕ−

−ϕ−

−ϕ−

=effE 

2.2  �������� �����
����6
!��  *��:>� =����� � ���� ��%&��� �
��$.� 
O"
!� *�� ��3� MHz 1:  

9068

6829

2925

2520

200

for

for

for

for

for

dBW

dBW

dBW

dBW

dBW

8.29

)20(log2586.71

48

)20(56.062

62
2

≤ϕ≤
<ϕ≤
<ϕ≤
<ϕ≤
<ϕ≤














−ϕ−

−ϕ−
=effE

 

F��:  

Eeff  =  Ep  –  15 log (1 + 5/PW)                dBW 

Eeff:   =�����e.i.r.p. =�
<S� E/����� ���� 4I� 2��� ���� �.;<��� � ��!�
=�
<S�� G�< �� #
,�,��=�����  
Ep:  =���� ��,���� ������=��%��  e.i.r.p. (dBW)  �� =������� ��������� ��
��� �!������!.�  

PW:   =��(µs)��������� ��
��� �!�� 
O.��� ���� �
,����  ����!.�  
ϕ:   �
I��	� ����3)�
����
� (10->� M����� �����
�  

3  *�� ?
��	� �- ��%&��� �
�� ��;� ��+�- =������ E/����� �6�� �- E&�<�� ����� #
,- =��I�� ""���� �"21  

4  G��������I�� ���@ �- � "���� �2� "3������ ��
��� �
!�� �� �	
��� 0���� $�� ��
� N
�B 4��  ����
����!.��.�
��� E
����	� �
!�� H� �1  



 �������ITU-R  S.1340 3

5  3�
��� 	� =����� e.i.r.p. ��� �.����� M������ �.���� ��->� �� ��,�� �!��  �- ��%&� �.�������� 
dB(W/MHz) 54)  �@�
��� �@��2(1  

6   ������� ��*�>� 5!� 0�.��� �- �-������ 1 0
!��� �- E&�<� 	� 2�� GHz 15,63-15,431  

7   �� ��;� ��������� ��
��� �
!�� ��
��� ���.!��� 0������ �
-
������!.� E/����� �� ��
��� E������ ��: �� 
 ��%&��� �
��� ��,�>� �
!���� �	
������
��:  

+  km 515 �� �
;� ��@�> =�6
!�� !��B  =��
�� ���6
!�� !��B(ALS)1  
+  km 600���� ������� E����� =�6
! ��  *��:>� =�(MPR)1  
+  km 270 ��  �
;� 4
����� 4����� ��@�> =�6
!�� !��B���������1  

8  =
����� �� �
��.��D� ��-
,=������ �- �
��.��� 1� 2� 3.  
 �������1 +(� ��	��	 �	�����	 ,�'� ��  -�!/�	 " ���� 1" 1���� ,�'��	 �� %���2 �3�43�	 5&2 �3 67�3�	 WRC-95 . 	���

�	���8��	 ���� ��& ���!��	 5�9��� :& ���3 1����3���	 (�  non-GSO MSS �����	��	 �#�3�	 �3��� �	��'�� . ��� 1��
�*�	�3 -�!/�	 "  ����1" �3�43 ;<���� %�!�� ,#� =���� (� �����	��	 ������� ���2.  

 �������2 �>�� ���8��	 ���� 
?�� �2  +  @�?�	 (� �3���MSS ����4� ("� ����?� ����8A�� ��3�3�� ���2 � ��&�#�	 (� 
 ������	 ��&�*'�3�	& ��� �! B���	��	 C�/�	 �3��� ������	 (� -��	��	ITU-R RA.769.  

  

  

  

������ �1  

 ��������� ��	
�� �
��
������� ������ �� GHz 15,7-15,4 

1  ����������� ��	  

 5!� ������� E����C�- ��
���� *�>������  ��� $.� �� �I��� �<;�  H������ ������� H"�;�� �
�;��� ���6
!�� 
 �- �.������� 5!��� ���
!����;
�� �-����6
!�� !��O� U�/� .  

1.1  �	��
�� ��

��  

+   ��� ����	� ��3��� ���-dB 3:  °3,5> 9
���� H!
" ���'
�� ��� 2�.���� °31−  
°0,359
��-�   

+  ������ U���� :GHz 16,7-15,65 

+  2
!���	� :M�6��  
+  �!���� 2�;�� :dBi 43 

+  ���
��� PI.� U����� ������ :dB 25=��%�� 2�; ���   
+  �I./�� PI.� U����� ������ :dB 35=��%�� 2�; ���   
+   E���� U�������� :°1,5 ±  
+  $�">� U������->� 5��.�  :°360.  
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1.1.1  ��� 

�� ����� �� ������� �������	��
  

$�� 9��
�����I�� ���� �
I����� ������� �
�!���� P����
��� � �=��%�� 2�;G�����  $�� °1,5+V��J� �!!/� ��
:  
 2�;����3 H� F�� ���
��� ����� $.� �
I��	� ϕ �
I��	� ����3 �B )�
����
�:(  














≤ϕ≤
<ϕ≤
<ϕ≤
<ϕ≤
<ϕ≤

ϕ−

−ϕ−
=ϕ

9048

4816

169

94

40

for

for

for

for

for

dBi

dBi

dBi

dBi

dBi

8

log212.43

18

)4(543

43

)(G 

2.1.1  ��� 

�� ����� �� ������	��
�� ���  

$�� 9��
�����I�� ���� �
I����� ������� �
�!���� P����
��� �V��J� � !!/� �����3 H� 2�;�� ���
��� ����� $.� ����� 
 F��ϕ ������ ����� ����3 �B�) �
����
�:(  

18048

4872.0

72.04.4767

4767.00

for

for

for

for

dBi

dBi

dBi

dBi

8

log5.607.17

18

11043

)(

2

≤ϕ≤
<ϕ≤
<ϕ≤
<ϕ≤













ϕ−

ϕ−

=ϕG 

2.1 ���� �	���  

1.2.1  ������!�  

+   =�����e.i.r.p.=��%.�  :dBW 86 

+  ���� ���;� �����
, :Hz 8 192 

+  ,���� =��� :µs 0,04  
+  *�� �
,���� 0
!� ��� dB 3,5 :MHz 25.  

2.2.1  ����"#��$�  

+  �6��O�� 2�;�!����  :dBi 43 

+  #
,�,�� E�
���!����  :dB 6,9-6,2.  

2   
��
� ����	� �������� ����(ALS)  

 ��@�>� ��ASL�; ��I��� ��� $.� E����C�� *��:>� =����� ��@��  �
��;�� �� E��C� ��@����� $.� ��
�� ��6��  N�%;�
��6
,I�� �
;�;��� !��O� . 5�� '3�� !��O�� '
@���
� �
����� ���&�(MSBLS) ��@�>� ?%B ��� �B . *�� �.�/��

�
���!��� 2�� 
O�6
�/��
/�� .  

1.2  ��

���� �	��
%�&� '
� �
(��  

�
���!��� E;� �O�
<�� �6��O�� �
!!/� �� '
@��� N�% �- 
�� MSBLS .�
���!��� H� 5���� �
��� �.�/�� . �!&��
�
���!��� H��� ?
��� =������ 5���� �
���.  
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 '
@� ��;���� �6��OALS��� �6��B� �
I��� �6��B �� .  

 �6��B #3� E����J�	� �
I��� '
@�.ALS �
�!�� E
��D ����� ����3�=�6
!�� $�� .  
+  ���	� ��3��� ���- ��� �dB 3:    °1,3 9
���� �  

          °409
��-�   
+   U���������� :GHz 15,7-15,4 

+  2
!���	� : ��-������  
+  �!���� 2�;�� :dBi 28 

+  ���
��� PI.� U����� ������ :dB 17 
; �- =��%�� 2�; ��� ���������  
+  U���� 5��.� $�">� ������ :0 $�� °30.  

@�.� ����� �6��B #3� E����J� '
ALS �
��.�� E
��D =�6
!�� $�� �����.  
+   ��� ����	� ��3��� ���-dB 3:    °2,0 9
��-� �  

          °6,5 9
����  
+  ?V�<� !!/��� ������2�; 0����� ?��"  dBi 20  E">� $.� ���°200->� 0�-   
+  ������ U���� :GHz 15,7-15,4 

+  2
!���	� : ��-������  
+  �!���� 2�;�� :dBi 33 

+  ���
��� PI.� U����� ������ :dB 17 
; �- =��%�� 2�; ��� ���������  
+  U������->� 5��.� $�">�  :°35±.  

1.1.2 �	��
�� ������ ��)� 
*��� 

��  

V��J� ����� �
�!�� $.� '6
��� M������ �
&�� 2�;� !.�/��� !!/��� �� F�� ���
��� ����� $.� �ϕ �
I��	� ����3 �B 
)��
��
��:(  

9004

4034

3432

3214

148

80

for

for

for

for

for

for

dBi

dBi

dBi

dBi

dBi

dBi

)40(2.010

10

)32(928

28

)8(833.033

33

)(

≤ϕ≤
<ϕ≤
<ϕ≤
<ϕ≤
<ϕ≤
<ϕ≤
















−ϕ−

−ϕ−

−ϕ−

=ϕG 

2.1.2 ����� �	��+ ��

��  

V��J� F�� ���
��� ����� $.� �
I��	� �6��O� ����� �
: !!/� �ϕ������ ����� ����3 �B �) �
����
�:(  

18070

700

for

for

dBi

dBi

37.2–

0062.028
)(

2

≤ϕ≤
<ϕ≤





 ϕ−=ϕG 
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V��J� F�� ���
��� ����� $.� ����� �6��O� ����� �
: !!/� �ϕ��� ����� ����3 �B  ����)�
����
�:(  

18048

485

53

30

for

for

for

for

dBi

dBi

dBi

dBi

53.9–

log255.32

15

233

)(

2

≤ϕ≤
<ϕ≤
<ϕ≤
<ϕ≤













ϕ−

ϕ−

=ϕG 

2.2 ���� �	���  

1.2.2  ������!�  

+   =�����e.i.r.p.=��%.�  :dBW 71 

+  �
,���� ���;� ���� :Hz 3 334 

+  ,���� =��� :µs 0,333  
+  *�� �
,���� 0
!� ��� dB 3,5 :MHz 3.  

2.2.2  ����"#��$�  

+  ;�!���� �6��O�� 2� :dBi 8 

+  �,�� E�
���!���� #
, :dB 8.  

3  �������� ������� ������ ������ (MPR)  

 �����6
!�� ������� MPR �B� ��������� ��
��� �6
@�� '��� ������� �� M������� ������������ �
��>�� H"��..  

1.3 �	��
�� ��

��  

 9
����� W.�� ?�!" �6-
;� �6��O�� ��m 0,3 5�� �% ���� $�� �@��
� ��-�� =�6
!�� �O��
O���,�� :  
+   ���- ��� ����	� ��3���dB 3 :°4,5  
+  ������ U���� :GHz 15,7-15,4 

+  2
!���	� :����  
+  �!���� 2�;�� :dBi 30 

+  ��->� 5��.� $�">� U���� :°45±  
+  $�">� U���� 5��.� ������ :°20±.  

V��J� F�� ���
��� ����� $.� �6��O�� �
: !!/� �ϕ���3 �B  ������� ����� �)�
����
�:(  














≤ϕ≤
<ϕ≤
<ϕ≤
<ϕ≤
<ϕ≤

−ϕ−

−ϕ−
=ϕ

18068

6829

2925

2520

200

for

for

for

for

for

dBi

dBi

dBi

dBi

dBi

17.2–

)20(log2586.39

16

)20(56.030

30

)(

2

G 
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2.3 ���� �	���  

1.2.3  ������!�  

+   =�����e.i.r.p.=��%.�  :dBW 70 

+  �
,���� ���;� ���� :Hz 800 

+  ,���� =��� :µs 2  
+  0
!� *�� �
,���� ��� dB 3,5 :MHz 0,5.  

2.2.3  ����"#��$�  

+  �;�!���� �6��O�� 2 :dBi 30 

+  �E�
��!���� #
,�,��  :dB 8.  

4   ������� �	���� ���
�������� (RSMS) 

 ������� 
������;� E����� ���� 4
���� �
���� '6
������� ��� GHz 15U�&��� ���6
!��  P��/�� $.� N�% �- 
�� �
��O.� =��� ��B
��� H� �I�I/�� �������� ��3�O���� �6��- �-�� 
O�> ��������� ���6
!�� �� ��8;� 2�
�� �� �8;� #���� �6

U�/� 2
��� �� �
<��
� 9��@� $��� ������ ��� 0�!�� 	 ���� ��.�&<��� ��������� ��
��� �
���!� . �
�
�" P/� 
��-
 $��>� ����"	� E,I� ��
/ ���@�>� '���� U���� $.� ��
/ ���B� �% 9
���� HI����� �%B �������� 0
!� �� ��
I��	�

� =��� ��
���� H� 0�"��� 4
��.� ��
/ ���B� ��% ��� ���� �F�.8��� �
8X 2
�:)����� .( ���.�&<��� �
���!��� *�� P/� 
��-
9
���� ��;���� =������ ������� �%B �������� 0
!� E8��.  

 'B
�� F�� '�
��� #
��� *�� �- H��� 0
!� $.� �
������ ?%B '�/��� ���� ��@�>� E����C����6
!�� ��
� �- 9���8; . ��
 0!
�� ����� �
I��	� 4
�"�I<;�� �� =��/>� E������ E�O��� E����J� 
���� =�6
!�� E�&<� �- �
�.���� 7��� ��� �B 

!��O�� .��
��� 3�3��� K
��.� �
���� �
/����� �� ��
/�� E�&<���� ���
��� �"����.  

 '
@��� E����J�RSMS��!� �- 9
�
��  ����!�� �$.� *I/�� �.� ) ����� W.�� ���� �.�m 1 500 .( $�@��� ����
&�� �-
E
��Y� E&�<� 9
�6��B '
@��� '�/��� ��
���!��� ��+EI�>� ��� M���� E
����� . ��: U�/� �
8X� �
8��	� �
8X *�I/���

*�>� 0�- �
I��	� ��	�� =����� *�I/�� ';�� E����J� �
O�- 2�:��.  

1.4  ,�-.�� �	���RSMS 

1.1.4 ������  

+  �������� U�� :GHz 15,65-15,63 

+  =��%�� =��" :dBmW 30 

+  �6��O�� 2�; :dBi 13� ��I./�� P��I�� > dBi 5  
+  �
,���� ���;� ���� :kHz 58 

+  =��,���� � )U�����( :ns 500  
+   E
����	� E�
��)$�">�( :%3  
+  *�� �
,���� 0
!� ��� dB 3,5 :MHz 2.  
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2.1.4 �"#�����  

+  2�;�6��O��  :dBi 13 ��I./�� P��I�� �dBi 5 >  
+  #
,�,�� E�
� :dB 6.  

  

  

  

  

  

������ �2  

������� ��	�
���� ���
�� �

� ��� �����
�� ������ �����
  
 ������� ���	 �
 ������� �����!
"	)#�$ % &�'( (�

��� +( MSS  

 ,����� +(GHz 15,7-15,4  

1  !"��  

�� E8�06��!�� U��� >� E������ ��
��� ���
�non-GSO �- �������� ��: �
/����� �� H,� =���.� U��" ���� e.i.r.p. 
 =��
��� ����� ����!.� ��������� ��
��� �
!�� ��e.i.r.p. �	
��S� 
���  =��
��� ��,�>� �
!���� �� �- �
��

��%&���.  

 
�; #
I�;	� N�%; �;��H,����  '��� U��" ��e.i.r.p. ���@ ������ ����!.� ��������� ��
��� �
!�� $.� 0�!�� 
�� 2�� ���� E/����� E
&�<	� $.� =��
" ��%&��� �
�� 
O�- ��;� . $.� U��" ����� 5���� !��� G�> 'B� E����� �%B ����

��%&��� �
�� E�&<�� '���� U���� .�� ��,�� �B ��%�
� ����!�� ?%B����
��� ����I.  

 ��
�- �.��� ������!�� ���
B �� E; E8�����3D0������ $�� ��
���  .9
�.�� 0������ 4�� ��
��� ?%B �-�.  

2  #����$� 
�������� 
�%��� 
��
� &��'"  

 '��V���0
!��� �%B �- E&�<� ��@�� =��  . ������� E�<� �B�*�>� 5!� (SBR) �- ��
����� ����  $.� �I��� �<;�
H���� �� ������� H" �;���
�;��� ���6
!��5!���  U�/>� �;
�� �- �.����������6
!�� !��B ��@��� =��
��  !��B 

���6
!�� (ALS)� ����������6
!�� *��:>� =�����  (MPR)�  4
����� 4����� '
@�M������� (RSMS) . �
!!/��
 =����� ����� �- 'O� ���� ��@�>� ?%B �6��Be.i.r.p.�
I��	� ����3 ��	��  . 0�.��� '���1 �6��O�� �
: 2�; �
!!/� 

�.� ��% U�/� P6
�/�.  

3  !�������  

1.3  �""���� ��/".�� ����0�������1��� �*��(�� ��2��*  

 0��- 4��'
O��� 4/4 E/�����  2������ ��������� ���-���"��� �.�
��� �
�����  . H��� U�� $.� �
�
�" ���� ������ ��
 �
,���� ���;�(PRF) �(kHz 100-1) �E
����	� E����� d �(%100-%0,01)�������.� � �
�!���� �	���� 

��� =������� Mbit/s 2 �Mbit/s 45 �.�
��� �
���.�  ���"���QPSK ��% =�I<��� �� E���3/4 ��
�>� �!/�� 5����� 
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(FEC) ������ �� 	
��� 
��� ��� �������� (BER) ���� 6-
10 × 1 .������� ������ ���
� ������
��  ���!�� ���
�� "� 

 �#�����$� "%������& '��!�� "�� ���� e.i.r.p. (��������� ��)���� '��*� Ep ����� (e.i.r.p. ����� (Eeff '��� +, (e.i.r.p. 
 
������ ���$ �-� /�$�)��1���� �2�� ITU-R S.1068 .( 
$��� "4e.i.r.p. ����-�� (Eave '��* +��$� (e.i.r.p. 


����$5� 
��� �� ����)� .6��2�� 7*8 ��(�8 ��������� �������� "�%� :  

(1) Eeff  =  Ep  –  15 log (1  +  0,5(PRF / d ))               dBW 

 "� ���9� ;�<PRF '�<���� Hz "�� d���=��� ��$���� .  

 (�)���� >�� ", ���PW +��$� ((d/PRF) �������� "� ������� "%�� ((1)������ �<��� ?�� :  

(2) Eeff  =  Ep  –  15 log (1  +  5 / PW)                 dBW 

 "� ���9� ;�<PW����@��%����� .  

 
%�� '��!�� ��-�
 ���@% ���� A�[(sin x)/x]
2 ����<� ��%, '��*�� '��� ���@% "�%� (dB 3,5�� '��!�� ���@% 
$��� "�  >�

 B�
�2/PW . B�
��� >������ (MHz) dB 3,5 ����< �8 1/PW . '��!�� ���@% "C� �*%8e.i.r.p. ����-�� (Eeff/MHz (
 B�
� >����(MHz) ��*���� ��1�� ����<�� ������ (BW) (MHz) "� ?��D� 1/PW������ �<��� ?�� /�%E� :  

(3) Eeff / MHz  =  Ep  –  10 log (2 / PW )  +  3,5  –  15 log (1  +  5 / PW)                 dBW 

F�� �����B�
��� >���  (BW)  ���� �, +��$�B�-� (1/PW) (������� 
$��� "�%� Eeff/MHz B�
��� >�� ?�� (
������:  

(4)    Eeff / MHz = Ep – 10 log (2 / PW ) + 3.5 – 15 log (1 + 5 / PW ) – 10 log [(BW) (PW )]         dBW  

2.3  �	�� 
�
� ��	
��������
�� ����
���� ������ ��
�� ���  

 B�
��� G�1� ��GHz 15,7-15,63 �������� >�D� G
$ . B�
��� �<H<H�GHz 15,65-15,45 ?�4 GHz 15,63-

15,43 5 (���� ���< I��8 ����8�� ��*���� ��1�� /�$E� ", "%�� ���� ��������� )>�,JK�)�.(  

���� 
���$E� ��)�D� ��
<��� B�$�� ����$� B�� �5�<�� /�L, �� +, (��
�<��� B�� ��$�$, >��LD� '����� ����� ��
 5 ;�<� (��*���� ��1�����'���D� 7*8 A� B�$���� ?�4 ���< I��8  .�I�*� �����( M� ��<��$� "�%� ��2�D� 7*8 
���� "C� 

 B�
��� ��GHz 15,7-15,4�� >�� "� �L��� ?��  ��������� ���!) B<���� �2��3 .( ��2�, 
������$<������!���  
��������� B�
��� �� �����< GHz 15,7-15,4 B�
�� ", "%���  I�*%������� ����.  

 B<���� �� ?
�E�1 �5������ ������ ��� (2)� (3)� (4)  ��2�D '���$����=�
�� 
��8 (ALS)� ����������=�
��  
>��LD� '����� (MPR)�  ���!��� �$<��� ��2�+������� (RSMS)"���
�� ��������� �<���� ��2�, ��  6=�2� A� (

�=��#�� 6�L /$% .� ��� /�$< "%�� ��������� 7*8 A�EeffN�-��5� ����H ��5��  . '��!�� �<E�e.i.r.p.� '��*�� PW 
 �5������ �
$���(2)� (3)� (4) .� (N�-��5� ����H "� ���9�ϕ�������� (.  
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1.2.3  ������� 
�
�Eeff �ALS  

 ��H� ���� ��*���� ��1�� ����<�� ������ B�
� >���� ��$����?�� MHz 3:  

9040

4034

3432

3214

148

80

for

for

for

for

for

for

dBW

dBW

dBW

dBW

dBW

dBW

)40(2.030

30

)32(948

48

)8(833.053

53

≤ϕ≤
<ϕ≤
<ϕ≤
<ϕ≤
<ϕ≤
<ϕ≤
















−ϕ−

−ϕ−

−ϕ−

=effE  

 ������ 7*8 ����� 
%��� ��1.  
 

1340-01 

60 

50 

40 

30 

20 

0 8 16 24 32 40 48 56 64 72 80 88 

E
 

ef
f 
(d
B
W
)

 

 1ا���� 


�م Eeffا�
	���،  .��e.i.r.pود ��� ALS 

(����ر��ت)  
�� ا	رض� ��
زاو�� ا�ر���ع ����

 

  

2.2.3  ������� 
�
�Eeff �MPR  

 ��$����� B�
� >���� �����<��������*���� ��1�� ����  ��H� ?�� MHz 1: 

9068

6829

2925

2520

200

for

for

for

for

for

dBW

dBW

dBW

dBW

dBW

8.29

)20(log2586.71

48

)20(56.062

62
2

≤ϕ≤
<ϕ≤
<ϕ≤
<ϕ≤
<ϕ≤














−ϕ−

−ϕ−
=effE  
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 ������ 7*8 ����� 
%��� ��2.  

 ������� ��� "4Eeff ��2�, 
�, "� �$<���!��� ��� ��������� ��H� ���� N�-��5� ����H ���< �� (?�� °0 ���� (dBW 13,1−.  
 

1340-02 

60 

50 

40 

30 

20 

0 8 16 24 32 40 48 56 64 72 80 88 

E
ef
f
(d
B
W
)

�����2

����e.i.r.p.����	�
�Eeff�
�

�� MPR 

 (��������) ��	
 ��
� ��
���� ������
 ���
�

 

  

  

  

3.3 �
��� ��� ���� �e.i.r.p. �� 
����� ������ ����!"��� ����   

"���
�� ��������� �<���� ��
<� "� ������� �������� "� ����<�� B�!<� "%��'���1�� ��1��� ?��  ��$��� ���� ���@�� 
 '��!��e.i.r.p. ��)�D� ��
<��� �� ���������1��� 7*8 .  

 ����< ���� ?�� ���$��� �������� ���< ��QPSK 
��� ��* 3/4 G�<1�� FEC ��$��� ���% (C/I) ����< ����/
���� (
 
���� ����!���BER 7��� 6-

10 × 1 ����< ���� dB 9 ������� ��!�� �� '�!-�� 1.3 . �������� �#�� "�%� ���%�� ���!�� 7*8 
��!�
 P��, ���1� "� ����!���#� PH�� 5 .��� ����� "� ���=��� ��$��� ", ����
��� ��������� �<���� �
<� �#��� "�%� �( "�%�� 

��� �#�=��8 6�-% �#�� dB 3− A������ A� ��)-��� 
��$� ��$� ", >��-9� (���� C/I �8��� dB 97*#� �#� Q��$�� "%��  ��$��� 
����� "� '���1�� ���=��� .���< ��� ����< ���� QPSK ��$��� "�%� '�-�� ��L C/I ����< dB 12.  

 ���� "4e.i.r.p. ��1�� ����<�� ������ B�
� >�� ��5�� �������� 7*8 6�L ?�� /����� ('���1 ��1� ?�� (�����)�� 
 �� �2<� �� ;�<� 6�$ "��� 
�� "� '�<�� '���4 ", >������ /$<E� ", "%�� (��*����T . I��8 "�%� �� (������ ?��

 ��� ?�4 ���<e.i.r.p. "�� Q����� 60 �dBW 70.  
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4  ����  

J  ���< "4'��!��  e.i.r.p. '�!-�� �� '�
���� 2.3 �=������<�� "���
�� ��������� �<���� ��2�, 
���� .  
J   ���<� G�$�
�������*���� ��1� �#��!� ", /�� ���� 
������ P�1!��  � �� �����MSS( ������ ���1�� 

���� ����
�� ������ P�1� ������ ��*���� ��1� �#���H4�

��� ������ ����-��� ���<�� ���< +, N���4  
 (
��$�� �=��84 ������ ��!�� ���<� /<�1� �� ���� (R� ����<��� '��!��e.i.r.p..  

J   '��!�� '����� 
#$�� "�e.i.r.p. ��)�, �
<� "� ����
��� ������  �� ��*���� ��1��� �� 
����5� ?�4 '����
� P�1!�� 
������ 6��2 '�!-�� �� '��<��3.3>�, 7���5� �� ( J K�)�.  

  

  

  

  

������ �3  

 �� ������	 �
��� ��
��	 ������	 ��� ������	 �����������	 MSS 

�
����	��� ��!�"	 �� #�����	��	 ��$��	 ���� �� ������	� %�
� �	���
�  
 �����	 ��GHz 15,7-15,4  

1   �����	 
��
 ����������	��	�	�����   

B�
��� �*8 �� 
���� ��2�, '�� ���<� �� . ��2�	� ��D� B���� '���$� ���=�
�� 
��8(ALS)>��LD� '����� ����������  
(MPR)���� ����<���  . �� B�$���� ����$� ���<�� �����)�� 
���<���� F=�1��� ?
�E�������� ��$�D�.  

2  ���
��	 ������  

1.2 #�������  

 (B�$���� ���$� "4Dc 
������ "� ����<�� "��)� �����)�� (", 
��<��� 
��!��� ��L ��)�D� ��
<��� M��$�  �� ��1�
 �� ��*���������� MSS������� ���!-�� �� "��� �8 ��% /$<E� ("���
�� ��������� �<���� ���� �� �������� ��
<��� .  

(5) Dc  =  Dfsl  +  Doth  +  Das               km 

�<;:  
Dfsl:   �1��� 
� �� +������� ��$��� ������&� ���$���(km) 

Doth:   B�D� ��� �� �����)�� '��$��� ����!��� B�D� ��� �� ���$���(km) 

Das:   
��#�� G
$ ?�4 '�=�
�� "� ���$���(km))  "���2��� ?�� B�
��ALS � RSMS(  

(6) Dfsl  =  (2r h1)0,5  +  (2r h2)0,5                km 
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;�<:  
r:   M�, ?�� ��*��	� >�D� �
� 61�4/3 M���� (��$��#�� '������ ��$%�5� +���� (km 8 500) 

h1:  �
<� N�-���"���
�� ��������� �<����  (ARNS) (km) 

h2:   ��)�D� �
<��� N�-��� �� ��*���� ��1�(km) 

(7) Loth  =  Eesd  +  168,6  –  Lfsl  +  G / T  –  I / N               dB 

;�<:  
Loth:   ?�4 ���)� B�D� K��� ���� �����5� '��$�Lfsl (dB))  ������ 7*8 ����� (��� ����� 
%��� ��1 "� �!��� (

 
�����%5 
�, "� GHz 15 ��1���� �� '�
���� ITU-R P.528 '��$� 
�, "� +, (�8H���� ��� 
 
��%95����� "� (  

Eesd:  '��!�� ���@% ?1�, e.i.r.p. ��)�D� �
<���  �� B�D� �<� ��*���� ��1�) �#�, ?�� *�SE�(dB(W/MHz) 54  
Lfsl:   �<�� K�)-�� �� '��$������$<� 
�, "� (dB) Dfsl  
G/T:   ��$�/$%��/ '���< ���� �
<��� K�)�)��ARNS (dB)  
I/N:   ��$�
������/�� K�)�)��� �
<��� ����!(dB) ARNS.  

 ��� "�%�Loth 5��������� �� Doth 
����� �� ����� �8 ��% 1.  

  

 
�����1  

Doth 
(km) 

Loth 
(dB) 

Doth 
(km) 

Loth 
(dB) 

Doth 
(km) 

Loth 
(dB) 

0 0 175 78 350 104 

25 24  200 82 375 107 

50 45 225 86 400 110  

75 57 250 90 425 113 

100 64 275 94 450 116 

125 69 300 98 475 118 

150 74 325 101 500 120 

  

  

 ��� "4Doth  ����!��� ��!�Loth '��%*��� ��!�� "�� '��������
$��� ,�!�$E� ", "%�� :  

(8) Doth  =  Dith  +  25[(Loth  –  Lith) / (Ljth  –  Lith)]               km 

;�<:  
Lith:   "� '����� 
!� ���� ���!��Loth 
����� �� 1���!�� ��$���� ( Loth�<���  �������� /$< '�(7)  
Ljth:   '����� B�-� ���� ���!��Loth 
����� �� 1���!�� ��$���� ( Loth �������� /$< '��<��� (7).  
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2.2  $������ �������	������  

 B=��
� �5������ ���2�/�$<�� A� '�!-�� �� '������ �������� ��� >�� 1.2 (P��D� �����)�� �������� ���� /$<� ��� 
$� ���� 
����� �� "��� �8 ��% B�$����2:  

 
�����2  

������� ALS MPR RSMS 

h1  (km) 7,6 15 1,5 

h2  (km) 0,01 0,01 0,01 

Dfsl  (km) 372 518 172,7 

Das  (km) 100 0 40 

Lfsl  (dB) 167,7 170,6 160,9 

G / T  (dB) 22,7– 2,0– 24,4– 

I / N  (dB) 10– 10– 10– 

Loth  (dB) 42,2 60 47,3 

Doth  (km) 46,7 85,7 54,8 

Dc  (km) 518,7 603,7 267,5 

  

  

 ���� B�$�� ���$� 
����$� "%��km 600 ��������� MPR ./��$,� 
����� �8 H�#���� "� 
���� �*#� �$�$D� 
������ 
 (�5�<�� �2�� �� (M�, ?��� ��� (+�<�������$ ���$� km 600 K��� ��)�, �
<�  �� ��*���� ��1�I�*�� I��8 "�%� "� 

B�$���� ���< . ��)�D� ��
<��� �#�� "�%� ���� ���<�� �� �� ��*���� ��1����� �� A!� ( ��
�<��� B�� 
������ B
��� "C�
A$���.  

3.2 ��%��� ��
���� 
�
� &�'(�  

 '��!�� P�1!�� ���@%�� �< >�-�� A�e.i.r.p.�*���� ��1�� ��)�D� ��
<���  ���$� >�-�� I�*% /�� (B�D� 7����� �
B�$���� .?�4 ������$�� 
%��� �� �<)���� ������ 3 ������� ��5�� B�$���� ����$� K���4 ��� (Eesd 
����� �� "��� �8 ��% 3:  

  

 
�����3  

Eesd 
(dB(W/MHz)) 

ALS 
(km) 

MPR 
(km) 

RSMS 
(km) 

54 519 604 268 

44 507 573 254 

34 495 561 242 

24 485 549 231 
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 ��2�D� ���< �� (B�$���� ���$� ", G)���� "�ALS ���������� MPR ��2�D�� RSMS ;�< (����� ����$���  �8 ��$�$,
 '��!�� ���@%� �$�$< �$�� (�1��� 
� �� ����$���e.i.r.p.B�D� �<� ������ .  

  

  

  

 
%���3  

 ����(���� ����(�� ��) ���%������� *�%'��  
����	�� 
(   
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3  ����  

J   ��)�, �
<� "� 
�$�T� P�1!�� ��!�� �<E� ", /�� �� ��*���� ��1����!��� ��<��� �!�D� +��$��� �� 
dB(W/MHz) 54.  

J   ���$� ?�4 ���< I��8 (�<�� �*8 A� B�$�� ����< ���� ����km 515 ��
<��� ����<� ALS ��������  ���� �
 ����!��� ��L �������� "� "���
�� ��������� �<�����8���� ���� ��)�D� ��
<��� �5�$�4  ����*���� ��1� .

 ����< ����!��� ���$��� ����km 600 ������� MPR� km 270 ��2��� RSMS.  

J   ��2��� B�$���� ���� ���$� "4ALS �������� MPR ��2���� RSMS�@% >U-�E� 5  P�1!�� �5�$�&� >�-��� ���
 ��)�D� ��
<��� "� �#� Q��$��� ����*���� ��1�.  

B�$���� 
�� �< ?��, ?�4 
1-�� ����$� >�-��� P��, 6�-�� ����!�� ����!� �!��$�� �!��
�� 
���$E� ", "%��.  
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4   ����	 
��
� ����� ��	�����	�����
���	 
��
�   

��� �������5� *�SE� ", /�� ��)�, �
<� A��� ���<� +���)�� "� "�%� ����� "��$<�� �� ���� �� 
���� ��*���� ��1�
)>�, 7���5� �� J K�)� (B�$���� ���$� 
���:  
J   ��)�D� ��
<��� "�%� �� 'H#�� ��*���� ��1� ���� '��1� "� 
!� �#��H< �<�� ���=��#�°1 ��� 
����� 

 B�-� N�-��� ����H°5 >-�� ��� ( '��!��e.i.r.p. >-�� �@ "�� "���
�� ��������� �<���� �
<� �<� ������ 

1-�� ���$�.  

J   ��2��� �!�D� G$��� ���< "�%� �����ALS ��)�D� �
<��� �<� ��$�� 
��� 5  �� K�)-�� "C� (��*���� ��1�
 +���� /<�1��� ��2�� '���$� 
��8���=�
�� "�%� 5 "���=�� "D� �
<��� "� "%�� ;�<� (��*���� ��1�� ��)�

", "%�� ���!� 
1-�� ���$� >�-�� �� ��%-��� ���<�� 7*8 ��  ����km 100.  
J   �=��8 
�< ��1�1� ����� /��� ��%, 
����$�)���=��8 ( ���)4 
H� ������ ��*���� ��1�� ��)�D� �
<���

"���
�� ��������� �<���� �
<� 7�����.  
J   "%����� K�!��� ����)��� ����
�� /�<�� "� ��-�$� ;�<� ��*���� ��1� �� ��)�D� �
<��� �������� A��

�����5� ��$� �� '��$��� ��H� ��� (��)�D�.  
J   ��2�� +���� K�)-�� �� '�=�
�� "�%� ����� �#�2<�� "%�� ���� ���=��#�� "����� I� �8��2 
���$� �����, "%��

$� "�%�� ���=�
�� 
��8��2��� �*8 
���.  

���������  

  


